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1.  Multiplication Task Scoring Guide 

The CCSS for Mathematical Content (2 points) 

3.OA.A.1 Indicates an understanding of multiplication expression x × y as x equal groups 
of y objects using a diagram or an explanation. 

(1 Point)  

_______

3.OA.B.5 Represents a diagram or an equation that shows one or both factors partitioned 
but with the same product as the original expression. Student may show: 

• 7 × 19 = (10 × 7) + (9 × 7) 

• 7 × 19 = (7 × 10) + (7 × 9) 

• 7 × 19  = (2 × 19) + (2 × 19) + (2 × 19) + 19 

• 7 × 19 = (7 × 20) – (7 × 1) 

(1 Point)

_______

Total Content Points _______ 

The CCSS for Mathematical Practice (2 points) 

MP3 Communicates the relationship between the factors or products in                      
(3 × 9) + (3 × 9) and in 3 × 18. Student may indicate that: 

• 9 items plus 9 items is equal to 18 items in 3 × 18. 

• the products of (3 × 9) + (3 × 9) and (3 × 18) are equal. 

• 9 groups and 9 groups make a total of 18 groups that each have 3 items. 

(1 Point)
(MP3: Construct viable arguments and critique the reasoning of others.) 

_______

MP4 Represents with diagrams or equations the student’s expression for solving 
7 × 19 and Dylan’s expression or 3 × 18.  

(1 Point)  
(MP4: Model with mathematics.) 

_______

Total Practice Points _______ 

Total Awarded Points _______ 
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The CCSS for Mathematical Content Addressed in This Task 

Represent and solve problems involving multiplication and division. 
3.OA.A.1 Interpret products of whole numbers, e.g., interpret 5 × 7 as the total number of objects in 5 

groups of 7 objects each. For example, describe a context in which a total number of objects 
can be expressed as 5 × 7. 

Understand properties of multiplication and the relationship between multiplication and 
division. 
3.OA.B.5 Apply properties of operations as strategies to multiply and divide. Examples: If 6 × 4 = 24 is 

known, then 4 × 6 = 24 is also known. (Commutative property of multiplication.) 3 × 5 × 2 
can be found by 3 × 5 = 15, then 15 × 2 = 30, or by 5 × 2 = 10, then 3 × 10 = 30. 
(Associative property of multiplication.) Knowing that 8 × 5 = 40 and 8 × 2 = 16, one can find 
8 × 7 as 8 × (5 + 2) = (8 × 5) + (8 × 2) = 40 + 16 = 56. (Distributive property.)

The CCSS for Mathematical Practice* 
1. Make sense of problems and persevere in solving them. 

2. Reason abstractly and quantitatively. 

3. Construct viable arguments and critique the reasoning of others. 

4. Model with mathematics. 

5. Use appropriate tools strategically. 

6. Attend to precision. 

7. Look for and make use of structure. 

8.  Look for and express regularity in repeated reasoning. 

*Gray text indicates Mathematical Practices that are not addressed in this task. 

Students’ responses to a mathematical task provide evidence of what they understand and are able to 
do in relation to the standards and practices. Across tasks, this cumulative evidence shows students’ 
understanding and abilities within a domain. When students do not respond completely to all parts of a 
task, they provide insufficient evidence of their mathematical understanding and abilities and therefore 
do not fully demonstrate the expectations of the standards and practices aligned with that task. 
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Anchor 1   Litho 349995   
 
Total Content Points: 2 (3.OA.A.1, 3.OA.B.5) 
 
Total Practice Points: 2 (MP3, MP4) 
 
In Part A, the student’s drawing correctly represents Dylan’s expression by showing 
3 groups of 9 objects and showing that the product (27) should be multiplied by 2, 
indicating an understanding of multiplication as representing the number of objects in 
x equal groups (3.OA.A.1). The student communicates the relationship between 
(3 × 9) + (3 × 9) and 3 × 18 by indicating that the products are equal (“3 × 18 = 54 = 
(3 × 9) + (3 × 9) = 54”) and that the factor 9 is used twice to equal the 18 in 3 × 18 
(“9 × 2 = 18, so he just broke it up”) (MP3). Either explanation would communicate the 
relationship. In Part C, the student correctly partitions 7 × 19 into (7 × 10) + (7 × 9) and 
indicates that both expressions have the same product (133), thereby applying the 
distributive property of multiplication (3.OA.B.5). The equations in Part A (3 × 18 = 54 = 
(3 × 9) + (3 × 9) = 54) and Part C (19 × 7 = 133) correctly model the solutions for 3 × 18, 
(3 × 9) + (3 × 9), and 7 × 19 (MP4). 
 
Total Awarded Points: 4 out of 4 
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Anchor 2   Litho 363880   
 
Total Content Points: 2 (3.OA.A.1, 3.OA.B.5) 
 
Total Practice Points: 2 (MP3, MP4) 
 
In Part A, the student’s drawing correctly represents 3 × 18 by showing 3 groups of 18 
objects, indicating an understanding of multiplication as representing the number of 
objects in x equal groups (3.OA.A.1). In Part B, the student communicates the 
relationship between (3 × 9) + (3 × 9) and 3 × 18 by stating that the products are equal 
and that the factors 9 + 9 equal the 18 in 3 × 18 (MP3). In Part C, the student correctly 
partitions 7 × 19 into (7 × 10) + (7 × 9) in the diagram and represents that both 7 × 19 and 
(7 × 10) + (7 × 9) have the same product (133), thereby applying the distributive property 
of multiplication (3.OA.B.5). The diagrams in Parts A and C correctly model the 
solutions for 3 × 18, (3 × 9) + (3 × 9), 7 × 19, and (7 × 10) + (7 × 9) (MP4).  
 
Total Awarded Points: 4 out of 4 
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Anchor 3   Litho 365677   
 
Total Content Points: 1 (3.OA.A.1) 
 
Total Practice Points: 2 (MP3, MP4) 
 
In Part A, the student’s drawing correctly represents (3 × 9) + (3 × 9) by showing 
3 groups of 9 items twice, indicating an understanding of multiplication as representing 
the number of objects in x equal groups (3.OA.A.1). In Part B, the student communicates 
the relationship between (3 × 9) + (3 × 9) and 3 × 18 by stating that the products are 
equal (“3 × 18 = 54 and (3 × 9) + (3 × 9) = 54”) (MP3). In Part C, the student does not 
partition one or both factors of 7 × 19, and therefore does not apply the distributive 
property of multiplication (no credit for 3.OA.B.5). The diagrams in Parts A, B, and C 
correctly model the solutions for (3 × 9) + (3 × 9), 3 × 18, and 7 × 19 (MP4).   
 
Total Awarded Points: 3 out of 4 
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Anchor 4   Litho 363865  
 
Total Content Points: 1 (3.OA.A.1) 
 
Total Practice Points: 2 (MP3, MP4) 
 
In Part A, the student’s drawing correctly represents 3 × 18 by showing 3 groups of 18 
objects, indicating an understanding of multiplication as representing the number of 
objects in x equal groups (3.OA.A.1). In Part B, the student communicates the 
relationship between (3 × 9) + (3 × 9) and 3 × 18 by stating that the products are equal 
(“They both equal 54”) (MP3). In Part C, the student does not partition one or both 
factors of 7 × 19, and therefore does not apply the distributive property of multiplication 
(no credit for 3.OA.B.5). The drawing in Part A and the equations in Part C correctly 
model the solutions for 7 × 19 and (3 × 9) + (3 × 9) (MP4).  
 
Total Awarded Points: 3 out of 4 
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Anchor 5   Litho 368019   
 
Total Content Points: 1 (3.OA.B.5) 
 
Total Practice Points: 2 (MP3, MP4) 
 
In Part A, the student provides no drawing and no explanation of objects in equal groups, 
and therefore does not indicate an understanding of multiplication as representing the 
number of objects in x equal groups (no credit for 3.OA.A.1). In Part B, the student 
communicates the relationship between (3 × 9) + (3 × 9) and 3 × 18 by stating that the 
products are equal (“3 × 18 = 54 and (3 × 9) + (3 × 9) = 54 also so they are the same”) 
(MP3). In Part C, the student correctly partitions 7 × 19 into (7 × 10) + (7 × 9) and 
indicates that both expressions have the same product (133), thereby applying the 
distributive property of multiplication (3.OA.B.5). The equations in Parts A, B, and C 
correctly model the solutions for (3 × 9) + (3 × 9), 3 × 18, 7 × 19, and (7 × 10) + (7 × 9) 
(MP4). 
 
Total Awarded Points: 3 out of 4 
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Anchor 6   Litho 366052  
 
Total Content Points: 1 (3.OA.A.1) 
 
Total Practice Points: 1 (MP3) 
 
In Part A, the student’s drawing correctly represents 3 × 18 by showing 3 groups of 18 
objects, indicating an understanding of multiplication as representing the number of 
objects in x equal groups (3.OA.A.1). In Part B, the student communicates the 
relationship between (3 × 9) + (3 × 9) and 3 × 18 by indicating that 9 + 9 = 18 in 3 × 18 
(MP3). In Part C, the student does not partition one or both factors of 7 × 19, and 
therefore does not apply the distributive property of multiplication (no credit 
for 3.OA.B.5). Although the drawing and equations in Part A correctly model the 
solutions for 3 × 18 and (3 × 9) + (3 × 9), the equation in Part C is incorrect 
(7 × 19 = 73), and the diagram is not a correct model for solving 7 × 19 (no credit 
for MP4). 
 
Total Awarded Points: 2 out of 4 
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Anchor 7   Litho 364507  
 
Total Content Points: 1 (3.OA.A.1) 
 
Total Practice Points: 1 (MP3) 
 
In Part A, the student’s drawing correctly represents 3 × 18 by showing 3 groups of 18 
objects, indicating an understanding of multiplication as representing the number of 
objects in x equal groups (3.OA.A.1). In Part B, the student communicates the 
relationship between (3 × 9) + (3 × 9) and 3 × 18 by stating that the products are equal 
(“3 × 18 = 54 and (3 × 9) + (3 × 9) = 54”) (MP3). The inaccurate equations in Part B 
(“3 × 9 = 37 and 37 + 37 = 54”) are not correct models for solving Dylan’s expression 
(no credit for MP4). In Part C, the student does not correctly partition one or both factors 
of 7 × 19 (67 + 67 – 1), and therefore does not apply the distributive property of 
multiplication (no credit for 3.OA.B.5). 
 
Total Awarded Points: 2 out of 4 
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Anchor 8   Litho 372747  
 
Total Content Points: 0 
 
Total Practice Points: 2 (MP3, MP4) 
 
In Part A, the student provides no drawing and no explanation of objects in equal groups, 
and therefore does not indicate an understanding of multiplication as representing the 
number of objects in x equal groups (no credit for 3.OA.A.1). In Parts A and B, the 
student communicates the relationship between (3 × 9) + (3 × 9) and 3 × 18 by showing 
that both expressions have the same product, 54 (MP3). In Part C, the student does not 
partition one or both factors of 7 × 19, and therefore does not apply the distributive 
property of multiplication (no credit for 3.OA.B.5). The equations in Parts A, B, and C 
correctly model the solutions for 3 × 18, (3 × 9) + (3 × 9), and 7 × 19 (MP4). 
 
Total Awarded Points: 2 out of 4 
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Anchor 9   Litho 362013  
 
Total Content Points: 1 (3.OA.B.5) 
 
Total Practice Points: 0 
 
The student provides no drawing and no explanation of objects in equal groups, and 
therefore does not indicate an understanding of multiplication as representing the number 
of objects in x equal groups (no credit for 3.OA.A.1). In Part B, the student’s response 
(“He could use his [expression] but it would be [easier] to 3 × 18 = 54 because he 
wouldn’t get the right answer”) does not correctly communicate the relationship between 
(3 × 9) + (3 × 9) and 3 × 18 (no credit for MP3). In Part C, although the multiplication is 
incorrect, the student correctly partitions 7 × 19 into (10 × 7) + (9 × 7) and indicates that 
both have the same product of 106, thereby applying the distributive property of 
multiplication (3.OA.B.5). However, the inaccurate equation in Part C (7 × 19 = 106) is 
not a correct model for solving 7 × 19 (no credit for MP4). 
 
Total Awarded Points: 1 out of 4 
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Anchor 10   Litho 368083  
 
Total Content Points: 0 
 
Total Practice Points: 1 (MP4) 
 
The student provides no drawings and no explanation of objects in equal groups, and 
therefore does not indicate an understanding of multiplication as representing the number 
of objects in x equal groups (no credit for 3.OA.A.1). In Part B, the student’s response 
does not correctly communicate the relationship between (3 × 9) + (3 × 9) and 3 × 18 
(no credit for MP3). In Part C, the student does not partition one or both factors of 7 × 19, 
and therefore does not apply the distributive property of multiplication (no credit 
for 3.OA.B.5). The equations in Parts A, B, and C correctly model the solutions for 
18 × 3 and 19 × 7 (MP4). 
 
Total Awarded Points: 1 out of 4 
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Anchor 11   Litho 368333  
 
Total Content Points: 0 
 
Total Practice Points: 0 
 
The student provides no drawings and no explanation of objects in equal groups, and 
therefore does not indicate an understanding of multiplication as representing the number 
of objects in x equal groups (no credit for 3.OA.A.1). In Part B, the student’s response 
does not correctly communicate the relationship between (3 × 9) + (3 × 9) and 3 × 18 
(no credit for MP3). In Part C, the student does not partition one or both factors of 7 × 19, 
and therefore does not apply the distributive property of multiplication (no credit 
for 3.OA.B.5). Although one equation in Part A ((3 × 9) + (3 × 9) = 54) and the equation 
in Part C (7 × 19 = 133) are correct models, the inaccurate equation in Part A 
(3 × 18 = 24) is not a correct model for solving 3 × 18 (no credit for MP4). 
 
Total Awarded Points: 0 out of 4 
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Anchor 12   Litho 382094  
 
Total Content Points: 0 
 
Total Practice Points: 0 
 
In Part A, the student’s drawing does not correctly represent 3 × 18 or (3 × 9) + (3 × 9), 
and therefore does not indicate an understanding of multiplication as representing the 
number of objects in x equal groups (no credit for 3.OA.A.1). In Part B, the student 
rewrites the expressions from the prompt but does not communicate the relationship 
between (3 × 9) + (3 × 9) and 3 × 18 (no credit for MP3). In Part C, the student does not 
partition one or both factors of 7 × 19, and therefore does not apply the distributive 
property of multiplication (no credit for 3.OA.B.5). Although the equation in Part C 
(7 × 19 = 133) is a correct model for solving 7 × 19, the student does not provide a model 
for solving (3 × 9) + (3 × 9) or 3 × 18 (no credit for MP4). 
 
Total Awarded Points: 0 out of 4 
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